[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.0
0.005

0
1.2

Ratio

vl

0.8

107 1

=
2
N

10 0?
TP vertr (cr%)

—=— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100
Effici —e— DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0
iclend _, DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

N 0.
R R e R B
w0 . . . . .
L B R e |
> : : : : :
2 : : : : :
SRl | S S A
= : : : :
£ 0.06]
5}
0.05]
0.04
0.03
0.02
0.0
1Q

....................

Ratio
=

N
+
o

[T T[T [T T[T [T T[T T[T T [JTITTITTT]

20 30
TP vert z (cm)

|

Wrr

(@]

|

N

o

| = —— -
(@] o
(@]

=

o

[ Efficiency vs. sim PV z |
~ 0.05
> E E E E
00.045F -+ preyees AR :
S : : : :
T e
2.035F |- SRR IRRERERE 3
P b : : : :
€ 0.03F|----- A Feree :
o : : : :
8.025
]
0.02f1
0.015
0.01
0.005

10

Ratio

1.1

r

10 15 20
Sim. PV z (cm)

iy

|
g L
o



	Contents
	Page 1


